
ON SIX SELF-MAPS IN PARTIALLY ORDERED METRIC SPACES

Chandrashekhar Chauhan

Assistant Professor

Department of Applied Science (Mathematics), Institute of Engineering & Technology,
Devi Ahilya University, Indore, (M.P.), India

Abstract: In this paper the existence of coincidence and common fixed point theorems for six self-maps satisfying contraction type in complete partially ordered metric spaces have been proved. Our work is generalizations of earlier work of Sharma et al. [22] and some others.

Keywords: partially ordered metric spaces, common fixed point, compatibility, weakly compatibility maps, weakly annihilator maps, dominating maps.

AMS Subject classification: Primary 54H25, Secondary 47H10.

1. Introduction

Jungck [11] introduced commuting maps, afterwards weakly commutativity, compatibility, compatibility of type (A), (B) and (P), weakly compatibility of maps have been established. (see [21, 13, 15, 16, 17, 14] etc).

Geraghty [11] generalized the Banach contraction principle. Afterward, Harandi et al. [6] extend the result of [11] in the context of partially ordered set. In [5] Altun et al. introduced weakly increasing maps. Further, Aydi [7] presented coincidence and common fixed point theorem for three weakly increasing self-maps. Later Al-Muhammed et al. [3] extended the results of Aydi [7] for four maps by introducing and using the notions of weakly increasing, partially weakly increasing, weak annihilator, dominating, compatibility, weak compatibility of maps in partial ordered metric space. (see [2, 6, 8, 9, 18, 20] etc).

Recently, Sharma et al. [22] generalized the results of ([3], [7] and some others) for some common fixed point theorems of four self-maps satisfying contraction type condition with an relevant example in partially ordered complete metric spaces.

In this paper, we generalized the result of Sharma et al. [22] and some others for six self-maps in the context of partially ordered complete metric spaces.

2. Preliminaries

Definition 2.1.[5, 1] Let (X, \leq) be a partially ordered set. An ordered pair (f, g) of self maps of X is said to be

- (a) weakly increasing if $fx \leq gfx$ and $gx \leq fgx$ for all $x \in X$.
- (b) partially weakly increasing if $fx \leq gfx$ for all $x \in X$.

Remark 2.2. [1, 7] (a) A pair (f, g) of self-maps of X is weakly increasing if and only if pair (f, g) and (g, f) are partially weakly increasing.

(b) A pair (f, g) of self-maps of X is weakly increasing \Rightarrow the pair (f, g) is partially weakly increasing but the convers is not true.

Definition 2.3.[3, 1] Let (X, \leq) be a partially ordered set.

- (a) A map f is called weak annihilator of g if $fgx \leq x$ for all $x \in X$.
- (b) A map f is called dominating if $x \leq fx$ for all $x \in X$.

Definition 2.4.[13, 14] Let (X, d) be a metric spaces.

(a) $f, g: X \rightarrow X$ are said to be compatible iff $\lim_{n \rightarrow \infty} d(fgx_n, gfx_n) = 0$ whenever $\{x_n\}$ is a sequence in X such that $\lim_{n \rightarrow \infty} fx_n = \lim_{n \rightarrow \infty} gx_n = u$ for some $u \in X$.

(b) $f, g: X \rightarrow X$ are said to be weakly compatible if they commute at their coincidence points, that is, if $fx = gx$ for some $x \in X$ then $fgx = gfx$.

If S is the family of functions $\omega: R^+ \rightarrow [0, 1)$ such that $\omega(t_n) \rightarrow 1$ implies $t_n \rightarrow 0$;

Theorem 2.5. [11] Let $f: X \rightarrow X$ be a contraction of a complete metric space X satisfying

(A1) $d(f(x), f(y)) \leq \omega(d(x, y))d(x, y), \quad \forall x, y \in X$, where $\omega \in S$ which need not be continuous. Then for any arbitrary point x_0 the iteration $x_n = f(x_{n-1}), n \geq 1$ converges to a unique fixed point of f in X .

Further, (Theorem 2.5) extended by Harandi et al. [6]

Theorem 2.6. [6] Let (X, \leq) be a partially ordered set and let there exists a metric d in X such that (X, d) is a complete metric space. Let $f: X \rightarrow X$ be a non-decreasing mapping such that there exists $x_0 \in X$ with $x_0 \leq f(x_0)$ satisfying (A1) for all $x, y \in X$ with $x \leq y$,

(B1) either f is continuous or there exists a non-decreasing sequence $\{x_n\}$ in X such that $x_n \rightarrow x$ then $x_n \leq x, \forall n$.

(B2) for any $x, y \in X$, there exists $u \in X$ which is comparable to x and y .

Then f has a unique fixed point.

Further, Aydi, [7] proved the following result

Theorem 2.7.[7] Let (X, \leq) be a partially ordered set and let there exists a metric d in X such that (X, d) is a complete metric space. Let $f, g, H: X \rightarrow X$ are continuous mapping such that:

(C1) $fX \subseteq HX, gX \subseteq HX$.

(C2) $\forall x, y \in X, Hx$ and Hy are comparable such that

$$d(fx, gy) \leq \omega(d(Hx, Hy))d(Hx, Hy), \text{ where } \omega \in S$$

(C3) the pair (f, H) and (g, H) are compatible.

(C4) f and g are weakly increasing with respect to H then f, g and H have a coincidence point. Moreover, if

(C5) for any $x, y \in X$ there exists $u \in X$ such that $fx \leq fu, fy \leq fu$ then f, g and H have a unique common fixed point.

Later, Al-Muhammed et al. [3] extended (Theorem 2.7) for four maps

Theorem 2.8.[3] Let (X, \leq) be a partially ordered set and let there exists a metric d in X such that (X, d) is a complete metric space. Let $f, g, S, T: X \rightarrow X$ such that:

(D1) $fX \subseteq TX$ and $gX \subseteq SX$.

(D2) for every comparable elements $x, y \in X,$

$$d(fx, gy) \leq \omega(d(Sx, Ty))d(Sx, Ty) \text{ where } \omega \in S.$$

(D3) the pairs (T, f) and (S, g) are partially weakly increasing.

(D4) f and g are dominating maps and weak annihilators of T and S , respectively.

(D5) there exists a non-decreasing sequence $\{x_n\}$ with $x_n \leq y_n$ for all n and $y_n \rightarrow u$ implies that $x_n \leq u$.

(D6) either pair (f, S) is compatible, pair (g, T) is weakly compatible and f or S is continuous map. Or

pair (g, T) is compatible, pair (f, S) is weakly compatible and g or T is continuous map.

Then f, g, S and T have a common fixed point. Moreover, the set of common fixed points of f, g, S and T is well ordered if and only if f, g, S and T have a unique common fixed point.

Recently, (Theorem 2.8) is generalized by Sharma et al. [22] by replacing (D2) to

(D7) $d(fx, gy) \leq \omega(m(x, y))m(x, y)$, where

$$m(x, y) = \max\{d(Sx, Ty), d(fx, Sx), d(gy, Ty), \frac{1}{2}(d(Sx, gy) + d(fx, Ty))\}$$

for all $x, y \in X$ with $x \leq y$ and $\omega \in S$.

3. Main Result

Our main result have the following common fixed point theorem for six self-maps.

Theorem 3.1. Let (X, \leq) be a partially ordered set and let there exists a metric d in X such that (X, d) is a complete metric space. Let $\mathcal{A}, \mathcal{B}, \mathcal{F}, \mathcal{G}, S, V: X \rightarrow X$ satisfying (D5) and (E1) $\mathcal{A}\mathcal{B}X \subseteq VX$ and $\mathcal{F}\mathcal{G}X \subseteq SX$.

(E2) $d(\mathcal{A}\mathcal{B}x, \mathcal{F}\mathcal{G}y) \leq \omega(m(x, y))m(x, y)$, where

$$m(x, y) = \max \left\{ d(Sx, Vy), d(\mathcal{A}\mathcal{B}x, Sx), d(\mathcal{F}\mathcal{G}y, Vy), \frac{d(Sx, \mathcal{F}\mathcal{G}y) + d(\mathcal{A}\mathcal{B}x, Vy)}{2} \right\}$$

for all $x, y \in X$ with $x \leq y$ and $\omega \in S$.

(E3)(a) the pairs $(V, \mathcal{A}\mathcal{B})$ and $(S, \mathcal{F}\mathcal{G})$ are partially weakly increasing.

(b) $\mathcal{A}\mathcal{B}$ and $\mathcal{F}\mathcal{G}$ are dominating, and weak annihilators of V and S , respectively.

(E4) one of $(\mathcal{A}\mathcal{B})X, (\mathcal{F}\mathcal{G})X, SX$ and VX is a complete subspace of X , then

(a) $\mathcal{F}\mathcal{G}$ and V have a coincidence point in X ,

(b) $\mathcal{A}\mathcal{B}$ and S have a coincidence point in X .

(E5) pairs $(\mathcal{A}\mathcal{B}, S)$ and $(\mathcal{F}\mathcal{G}, V)$ are weakly compatible then

(c) $\mathcal{A}\mathcal{B}, \mathcal{F}\mathcal{G}, S$ and V have a unique common fixed point in X .

Proof. Let x_0 be an arbitrary point in X , since $(\mathcal{A}\mathcal{B})X \subseteq VX$ then there exists $x_1 \in X$ such that $(\mathcal{A}\mathcal{B})x_0 = Vx_1$. Also since $(\mathcal{F}\mathcal{G})X \subseteq SX$ then there exists $x_2 \in X$ such that $(\mathcal{F}\mathcal{G})x_1 = Sx_2$. Inductively we can construct the sequences $\{x_n\}$ and $\{y_n\}$ in X such that

$$y_{2n} = \mathcal{A}\mathcal{B}x_{2n} = Vx_{2n+1} \text{ and } y_{2n+1} = \mathcal{F}\mathcal{G}x_{2n+1} = Sx_{2n+2} \text{ for all } n = 0, 1, 2, 3 \dots$$

From (E3), we have

$$x_{2n} \leq \mathcal{A}\mathcal{B}x_{2n} = Vx_{2n+1} \leq (\mathcal{A}\mathcal{B})Vx_{2n+1} \leq x_{2n+1} \text{ and}$$

$$x_{2n+1} \leq \mathcal{F}\mathcal{G}x_{2n+1} = Sx_{2n+2} \leq (\mathcal{F}\mathcal{G})Sx_{2n+2} \leq x_{2n+2}.$$

Thus $\forall n \geq 0$, we obtain $x_0 \leq x_1 \leq x_2 \leq x_3 \leq \dots \leq x_n \leq x_{n+1} \dots$.

Now we claim that $\{y_n\}$ is a Cauchy sequence in X . If $y_{2n} = y_{2n+1}$, for some n , then from (E2), we have

$$d(y_{2n+1}, y_{2n+2}) = d(\mathcal{A}\mathcal{B}x_{2n+2}, \mathcal{F}\mathcal{G}x_{2n+1}) \leq \omega(m(x_{2n+2}, x_{2n+1}))m(x_{2n+2}, x_{2n+1}),$$

where

$$m(x_{2n+2}, x_{2n+1}) = \max \left\{ d(Sx_{2n+2}, Vx_{2n+1}), d(\mathcal{A}\mathcal{B}x_{2n+2}, Sx_{2n+2}), d(\mathcal{F}\mathcal{G}x_{2n+1}, Vx_{2n+1}), \frac{d(Sx_{2n+2}, \mathcal{F}\mathcal{G}x_{2n+1}) + d(\mathcal{A}\mathcal{B}x_{2n+2}, Vx_{2n+1})}{2} \right\}$$

$$\begin{aligned}
 &= \max\{d(y_{2n+1}, y_{2n}), d(y_{2n+2}, y_{2n+1}), d(y_{2n+1}, y_{2n+1}), \\
 &\quad \frac{d(y_{2n+1}, y_{2n+1}) + d(y_{2n+2}, y_{2n})}{2}\} \\
 &\leq \max\{0, d(y_{2n+2}, y_{2n+1}), 0, \frac{d(y_{2n+2}, y_{2n+1}) + d(y_{2n+1}, y_{2n})}{2}\} \\
 &= \max\{0, d(y_{2n+2}, y_{2n+1}), 0, \frac{d(y_{2n+2}, y_{2n+1}) + 0}{2}\} = d(y_{2n+1}, y_{2n+2}).
 \end{aligned}$$

Hence, $d(y_{2n+1}, y_{2n+2}) \leq \omega(d(y_{2n+1}, y_{2n+2}))d(y_{2n+1}, y_{2n+2})$

Since $0 \leq \omega < 1$, we deduce that $d(y_{2n+1}, y_{2n+2}) \leq d(y_{2n+1}, y_{2n+2})$ which is a contradiction. Hence we must have $y_{2n+1} = y_{2n+2}$ using similar process, we obtain $y_{2n+2} = y_{2n+3}$ and so on. Thus $\{y_n\}$ turns out to be a constant sequence and y_{2n} is the common fixed point of AB, FG, S and V .

Now supposed $d(y_{2n}, y_{2n+1}) > 0$ for every n , since $x = x_{2n}$ and $y = x_{2n+1}$ are comparable elements so using (E2) we obtain,

$$d(y_{2n}, y_{2n+1}) = d(ABx_{2n}, FGx_{2n+1}) \leq \omega(m(x_{2n}, x_{2n+1}))m(x_{2n}, x_{2n+1}) \dots (1)$$

where

$$\begin{aligned}
 m(x_{2n}, x_{2n+1}) &= \max\{d(Sx_{2n}, Vx_{2n+1}), d(ABx_{2n}, Sx_{2n}), d(FGx_{2n+1}, Vx_{2n+1}), \\
 &\quad \frac{d(Sx_{2n}, FGx_{2n+1}) + d(ABx_{2n}, Vx_{2n+1})}{2}\} \\
 &= \max\{d(y_{2n-1}, y_{2n}), d(y_{2n}, y_{2n-1}), d(y_{2n+1}, y_{2n}), \\
 &\quad \frac{d(y_{2n-1}, y_{2n+1}) + d(y_{2n}, y_{2n})}{2}\} \\
 &\leq \max\{d(y_{2n-1}, y_{2n}), d(y_{2n+1}, y_{2n}), \frac{d(y_{2n-1}, y_{2n}) + d(y_{2n}, y_{2n+1})}{2}\} \\
 &= \max\{d(y_{2n-1}, y_{2n}), d(y_{2n+1}, y_{2n})\}
 \end{aligned}$$

now

$$m(x_{2n}, x_{2n+1}) = \text{either } d(y_{2n+1}, y_{2n+2}) \text{ or } d(y_{2n}, y_{2n+1})$$

If $m(x_{2n}, x_{2n+1}) = d(y_{2n+1}, y_{2n+2})$ then from (1) we have

$$d(y_{2n+1}, y_{2n+2}) = d(ABx_{2n}, FGx_{2n+1}) \leq \omega(d(y_{2n+2}, y_{2n+1}))d(y_{2n+2}, y_{2n+1})$$

Since $0 \leq \omega < 1$, we deduce that $d(y_{2n+1}, y_{2n+2}) \leq d(y_{2n+1}, y_{2n+2})$ which is a contradiction.

Therefore $m(x_{2n}, x_{2n+1}) = d(y_{2n}, y_{2n+1})$ hence from (1) we obtain,

$$d(y_{2n+1}, y_{2n+2}) = d(ABx_{2n}, FGx_{2n+1}) \leq \omega(d(y_{2n}, y_{2n+1}))d(y_{2n}, y_{2n+1}) \dots (2)$$

Since $0 \leq \omega < 1$, we deduce that $d(y_{2n+1}, y_{2n+2}) \leq d(y_{2n}, y_{2n+1})$

By using similar arguments for $x = x_{2n-1}$ and $y = x_{2n}$ in (E2) we have

$$d(y_{2n}, y_{2n+1}) \leq d(y_{2n-1}, y_{2n})$$

Hence for any n , $d(y_{n+2}, y_{n+1}) \leq d(y_{n+1}, y_n) \leq d(y_n, y_{n-1}) \leq \dots \leq d(y_1, y_0)$ implies that the sequence $\{d(y_{n+1}, y_n)\}$ is monotonic non-increasing sequence.

Hence there exists $r \geq 0$ such that $\lim_{n \rightarrow \infty} d(y_{n+1}, y_n) = r \dots (3)$

Using (2) we have,

$$\frac{d(y_{2n+1}, y_{2n+2})}{d(y_{2n}, y_{2n+1})} \leq \omega(d(y_{2n}, y_{2n+1})) < 1$$

Letting $n \rightarrow \infty$ in the above inequality, then from (3) we obtain

$$\lim_{n \rightarrow \infty} \omega(d(y_{2n}, y_{2n+1})) = 1 \text{ and since } \omega \in S \text{ this implies that } r = 0.$$

Hence for any n , $\lim_{n \rightarrow \infty} d(y_{n+1}, y_n) = 0 \dots (4)$

Now we claim that $\{y_n\}$ is a Cauchy sequence. Suppose on the contrary that $\{y_{2n}\}$ is not a Cauchy sequence then there is $\epsilon > 0$, and there exist even integers $2m_k, 2n_k$ with $2m_k > 2n_k > k$ for all $k > 0$ such that

$$d(y_{2m_k}, y_{2n_k}) \geq \epsilon, \dots (5) \text{ and } d(y_{2m_k-2}, y_{2n_k}) < \epsilon \dots (6)$$

Now using (5), (6) and by triangle inequality, we have

$$\begin{aligned} \epsilon &\leq d(y_{2m_k}, y_{2n_k}) \leq d(y_{2n_k}, y_{2m_k-2}) + d(y_{2m_k-1}, y_{2m_k-2}) + d(y_{2m_k-1}, y_{2m_k}) \\ &\leq \epsilon + d(y_{2m_k-1}, y_{2m_k-2}) + d(y_{2m_k-1}, y_{2m_k}) \end{aligned}$$

Letting $k \rightarrow \infty$ in the above inequality and using (4), we obtain

$$\lim_{k \rightarrow \infty} d(y_{2m_k}, y_{2n_k}) = \epsilon \dots (7)$$

Again for all $k > 0$, (4) and inequality

$$d(y_{2m_k}, y_{2n_k}) \leq d(y_{2m_k}, y_{2m_k-1}) + d(y_{2m_k-1}, y_{2n_k}) \Rightarrow \epsilon \leq \lim_{k \rightarrow \infty} d(y_{2m_k-1}, y_{2n_k})$$

While (4) and inequality

$$d(y_{2m_k-1}, y_{2n_k}) \leq d(y_{2m_k-1}, y_{2m_k}) + d(y_{2m_k}, y_{2n_k}) \Rightarrow \lim_{k \rightarrow \infty} d(y_{2m_k-1}, y_{2n_k}) \leq \epsilon$$

Hence $\lim_{k \rightarrow \infty} d(y_{2m_k-1}, y_{2n_k}) = \epsilon \dots (8)$

Again for all $k > 0$, (4) and inequality

$$d(y_{2m_k}, y_{2n_k}) \leq d(y_{2m_k}, y_{2n_k+1}) + d(y_{2n_k+1}, y_{2n_k}) \Rightarrow \epsilon \leq \lim_{k \rightarrow \infty} d(y_{2m_k}, y_{2n_k+1})$$

while (4) and inequality

$$d(y_{2m_k}, y_{2n_k+1}) \leq d(y_{2n_k}, y_{2n_k+1}) + d(y_{2m_k}, y_{2n_k}) \Rightarrow \lim_{k \rightarrow \infty} d(y_{2m_k}, y_{2n_k+1}) \leq \epsilon$$

Hence $\lim_{k \rightarrow \infty} d(y_{2m_k}, y_{2n_k+1}) = \epsilon \dots (9)$

Now taking $x = x_{2n_k}$ and $y = x_{2m_k-1}$ in the contractive condition $(E2) \forall k > 0$, we have

$$d(y_{2n_k+1}, y_{2m_k}) = d(ABx_{2n_k}, FGx_{2m_k-1}) \leq \omega(m(x_{2n_k}, x_{2m_k-1}))m(x_{2n_k}, x_{2m_k-1}) \dots (10)$$

where

$$\begin{aligned} m(x_{2n_k}, x_{2m_k-1}) &= \max\{d(Sx_{2n_k}, Vx_{2m_k-1}), d(ABx_{2n_k}, Sx_{2n_k}), d(FGx_{2m_k-1}, Vx_{2m_k-1}), \\ &\quad \frac{1}{2}(d(Sx_{2n_k}, FGx_{2m_k-1}) + d(ABx_{2n_k}, Vx_{2m_k-1}))\} \\ &= \max\{d(y_{2n_k}, y_{2m_k-1}), d(y_{2n_k+1}, y_{2n_k}), d(y_{2m_k}, y_{2m_k-1}), \\ &\quad \frac{1}{2}(d(y_{2n_k}, y_{2m_k}) + d(y_{2n_k+1}, y_{2m_k-1}))\} \\ &= \max\{d(y_{2n_k}, y_{2m_k-1}), d(y_{2n_k+1}, y_{2n_k}), d(y_{2m_k}, y_{2m_k-1}), \\ &\quad \frac{1}{2}(d(y_{2n_k}, y_{2m_k-1}) + d(y_{2m_k}, y_{2n_k+1}))\} \dots (11) \end{aligned}$$

Letting $k \rightarrow \infty$ in (11) and using (4), (7), (8) and (9), we have

$$\text{Thus } \lim_{k \rightarrow \infty} m(x_{2n_k}, x_{2m_k-1}) = \max\{\epsilon, 0, 0, \frac{(\epsilon+\epsilon)}{2}\} = \epsilon \dots (12)$$

Therefore, since $y_{2n_k+1} \neq y_{2m_k}$ then $\frac{d(ABx_{2n_k}, FGx_{2m_k-1})}{m(x_{2n_k}, x_{2m_k-1})} < \omega(m(x_{2n_k}, x_{2m_k-1})) < 1$

Using the fact $\epsilon = \lim_{k \rightarrow \infty} d(ABx_{2n_k}, FGx_{2m_k-1}) = \lim_{k \rightarrow \infty} m(x_{2n_k}, x_{2m_k-1})$, we get

$\lim_{k \rightarrow \infty} \omega(m(x_{2n_k}, x_{2m_k-1})) = 1$ since $\omega \in S$, hence $\lim_{k \rightarrow \infty} m(x_{2n_k}, x_{2m_k-1}) = 0$ which is

contradiction i.e. $\lim_{k \rightarrow \infty} m(x_{2n_k}, x_{2m_k-1}) = \epsilon > 0$. Thus $\{y_{2n}\}$ is a Cauchy sequence and

since X is complete so there exist a point z in X such that $\{y_n\}$ and its subsequences $\{y_{2n+1}\}$ and $\{y_{2n}\}$ are also converges to z . i.e.,

$$\lim_{n \rightarrow \infty} y_{2n} = \lim_{n \rightarrow \infty} ABx_{2n} = \lim_{n \rightarrow \infty} Vx_{2n+1} = z \text{ and}$$

$$\lim_{n \rightarrow \infty} y_{2n+1} = \lim_{n \rightarrow \infty} FGx_{2n+1} = \lim_{n \rightarrow \infty} Sx_{2n+2} = z$$

Suppose VX is closed then there exists $w^* \in X$ such that $z = Vw^*$. From $(E3)$, since $x_{2n} \leq ABx_{2n}$ and $ABx_{2n} \rightarrow z$ as $n \rightarrow \infty \Rightarrow x_{2n} \leq w^* = Vw^* \leq (AB)Vw^* \leq w^*$.

Using $(E2)$, we have

$$d(ABx_{2n}, FGw^*) \leq \omega(m(x_{2n}, w^*))m(x_{2n}, w^*) \dots (13)$$

where

$$\begin{aligned}
 m(x_{2n}, w^*) &= \max\{d(Sx_{2n}, Vw^*), d(ABx_{2n}, Sx_{2n}), d(FGw^*, Vw^*), \\
 &\quad \frac{d(Sx_{2n}, FGw^*) + d(ABx_{2n}, Vw^*)}{2}\} \\
 &= \max\{d(Sx_{2n}, z), d(ABx_{2n}, Sx_{2n}), d(FGw^*, z), \\
 &\quad \frac{d(Sx_{2n}, FGw^*) + d(ABx_{2n}, z)}{2}\}
 \end{aligned}$$

Letting $n \rightarrow \infty$, we have

$$\begin{aligned}
 \lim_{n \rightarrow \infty} m(x_{2n}, w^*) &= \max\{d(z, z), d(z, z), d(FGw^*, z), \frac{1}{2}(d(z, FGw^*) + d(z, z))\} \\
 &= \max\{0, 0, d(FGw^*, z), \frac{1}{2}(d(z, FGw^*) + 0)\} = d(FGw^*, z)
 \end{aligned}$$

Hence from (13) as $n \rightarrow \infty$, we have

$$d(z, FGw^*) \leq \omega(d(FGw^*, z))d(FGw^*, z)$$

since $\omega \in S$ this implies that $FGw^* = z$.

$$\text{So } FGw^* = Vw^* = z.$$

$$\text{Now by weakly compatibility of pair } (FG, V), FGz = (FG)Vw^* = V(FG)w^* = Vz.$$

Using (E2), we have

$$d(z, FGz) = d(ABx_{2n}, FGz) \leq \omega(m(x_{2n}, z))m(x_{2n}, z) \dots (14)$$

where

$$\begin{aligned}
 m(x_{2n}, z) &= \max\{d(Sx_{2n}, Vz), d(ABx_{2n}, Sx_{2n}), d(FGz, Vz), \\
 &\quad \frac{d(Sx_{2n}, FGz) + d(ABx_{2n}, Vz)}{2}\} \\
 &= \max\{d(Sx_{2n}, Vz), d(ABx_{2n}, Sx_{2n}), d(FGz, Vz), \\
 &\quad \frac{d(Sx_{2n}, FGz) + d(ABx_{2n}, Vz)}{2}\} \\
 &= \max\{d(Sx_{2n}, FGz), d(ABx_{2n}, Sx_{2n}), d(FGz, FGz), \\
 &\quad \frac{d(Sx_{2n}, FGz) + d(ABx_{2n}, FGz)}{2}\}
 \end{aligned}$$

Letting $n \rightarrow \infty$, we have

$$\begin{aligned}
 \lim_{n \rightarrow \infty} m(x_{2n}, z) &= \max\{d(z, FGz), d(z, z), d(FGz, FGz), \frac{1}{2}(d(z, FGz) + d(z, FGz))\} \\
 &= \max\{d(z, FGz), 0, 0, d(z, FGz)\} = d(z, FGz),
 \end{aligned}$$

Therefore from (14) as $n \rightarrow \infty$, we have

$$d(z, FGz) \leq \omega(d(z, FGz))d(z, FGz), \text{ since } \omega \in S \text{ this implies that}$$

Hence $FGz = z$ (15)

Since $FGX \subseteq SX$ then there exists a point $v^* \in X$ such that $z = FGz = Sv^*$.

From (E3) since $z \leq FGz = Sv^* \leq (FG)Sv^* \leq v^*$ implies that $z \leq v^*$.

Using (E2), we have

$$d(ABv^*, Sv^*) = d(ABv^*, FGz) \leq \omega(m(v^*, z))m(v^*, z) \dots (16)$$

where

$$\begin{aligned} m(v^*, z) &= \max\{d(Sv^*, Vz), d(ABv^*, Sv^*), d(FGz, Vz), \frac{d(Sv^*, FGz) + d(ABv^*, Vz)}{2}\} \\ &= \max\{d(Sv^*, Vz), d(ABv^*, Sv^*), d(FGz, Vz), \frac{d(Sv^*, FGz) + d(ABv^*, FGz)}{2}\} \\ &= \max\{d(FGz, Vz), d(ABv^*, Sv^*), d(FGz, Vz), \frac{d(Sv^*, FGz) + d(ABv^*, Sv^*)}{2}\} \\ &= \max\{d(z, z), d(ABv^*, Sv^*), d(z, z), \frac{d(z, z) + d(ABv^*, Sv^*)}{2}\} \\ &= \max\{0, d(ABv^*, Sv^*), 0, \frac{0 + d(ABv^*, Sv^*)}{2}\} = d(ABv^*, Sv^*) \end{aligned}$$

Therefore from (16), we have

$d(ABv^*, Sv^*) \leq \omega(d(ABv^*, Sv^*))d(ABv^*, Sv^*)$ since $\omega \in S$ this implies that $ABv^* = Sv^*$. Now by weakly compatibility of pair (AB, S) , $ABz = (AB)Sv^* = S(AB)v^* = Sz$.

Using (E2), we have

$$d(ABz, z) = d(ABz, FGz) \leq \omega(m(z, z))m(z, z) \dots (17)$$

where

$$\begin{aligned} m(z, z) &= \max\{d(Sz, Vz), d(ABz, Sz), d(FGz, Vz), \frac{d(Sz, FGz) + d(ABz, Vz)}{2}\} \\ &= \max\{d(ABz, Vz), d(Sz, Sz), d(z, z), \frac{d(ABz, z) + d(ABz, z)}{2}\} \\ &= \max\{d(ABz, z), 0, 0, d(ABz, z)\} = d(ABz, z) \end{aligned}$$

Therefore from (17), we have

$$d(ABz, z) \leq \omega(d(ABz, z))d(ABz, z), \text{ since } \omega \in S \text{ this implies that } ABz = Sz = z \dots (18)$$

Hence from (15) and (18), we have $ABz = FGz = Sz = Vz = z$, i.e. z is the common fixed point of AB, FG, S and V .

For the uniqueness of z suppose u^* be another common fixed point of \mathcal{AB} , \mathcal{FG} , S and V then from (E2), we have

$$d(z, u^*) = d(\mathcal{AB}z, \mathcal{FG}u^*) \leq \omega(m(z, u^*))m(z, u^*) \dots (19)$$

where

$$\begin{aligned} m(z, u^*) &= \max\{d(Sz, Vu^*), d(\mathcal{AB}z, Sz), d(\mathcal{FG}u^*, Vu^*), \frac{d(Sz, \mathcal{FG}u^*) + d(\mathcal{AB}z, Vu^*)}{2}\} \\ &= \max\{d(z, u^*), 0, 0, d(z, u^*)\} = d(z, u^*) \end{aligned}$$

Therefore from (19), we have

$d(z, u^*) \leq \omega(d(z, u^*))d(z, u^*)$, since $\omega \in S$ this implies that $z = u^*$, i.e. z is the unique common fixed point of \mathcal{AB} , \mathcal{FG} , S and V .

References

- [1] Abbas M, Nazir T, Radenović S. Common fixed points of four maps in partially ordered metric spaces. *Applied Mathematics Letters*. 2011 Sep 30; 24(9):1520-6.
- [2] Agarwal RP, El-Gebeily MA, O'Regan D. Generalized contractions in partially ordered metric spaces. *Applicable Analysis*. 2008 Jan 1; 87(1):109-16.
- [3] Al-Muhammed ZI, Bousselsal M. Common Fixed Point Theorem for Four Maps in Partially Ordered Metric Spaces.
- [4] Altun I, Damjanović B, Djorić D. Fixed point and common fixed point theorems on ordered cone metric spaces. *Applied Mathematics Letters*. 2010 Mar 31; 23(3):310-6.
- [5] Altun I, Simsek H. Some fixed point theorems on ordered metric spaces and application. *Fixed Point Theory Appl*. 2010 Jan 1; 17:2010.
- [6] Amini-Harandi A, Emami H. A fixed point theorem for contraction type maps in partially ordered metric spaces and application to ordinary differential equations. *Nonlinear Analysis: Theory, Methods & Applications*. 2010 Mar 1; 72(5):2238-42.
- [7] Aydi H. Coincidence and common fixed point results for contraction type maps in partially ordered metric spaces. *arXiv preprint arXiv:1102.5493*. 2011 Feb 27.
- [8] Caballero J, Harjani J, Sadarangani K. Contractive-like mapping principles in ordered metric spaces and application to ordinary differential equations. *Fixed Point Theory Appl*. 2010 May 10; 2010.
- [9] Chauhan CS, Sharma RK, Raich V. Common Fixed Point of Semi-Compatible maps in Partially Ordered Complex Valued Generalized Metric Space. *South East Asian J. of Math. & Math. Sci.* 13 (2), 2017, 105-124.

- [10] Djoudi A, Nisse L. Greguš type fixed points for weakly compatible maps. Bulletin of the Belgian Mathematical Society-Simon Stevin. 2003; 10(3):369-78.
- [11] Geraghty MA. On contractive mappings. Proceedings of the American Mathematical Society. 1973; 40(2):604-8.
- [12] Jungck G. Commuting mappings and fixed points. The American Mathematical Monthly. 1976 Apr 1; 83(4):261-3.
- [13] Jungck G. Compatible mappings and common fixed points (2). International Journal of Mathematics and Mathematical Sciences. 1988; 11(2):285-8.
- [14] Jungck G, Rhoades BE. Fixed point for set valued functions without continuity. Indian Journal of Pure and Applied Mathematics. 1998; 29(3):227-38.
- [15] Jungck G, Murthy PP, Cho YJ. Compatible mappings of type (A) and common fixed points.
- [16] Pathak HK, Khan MS. Compatible mappings of type (B) and common fixed point theorems of Greguš type. Czechoslovak Mathematical Journal. 1995; 45(4):685-98.
- [17] Pathak HK, Cho YJ, Chang SS, Kang SM. Compatible mappings of type (P) and fixed point theorems in metric spaces and probabilistic metric spaces. Novi Sad J. Math. 1996; 26(2):87-109.
- [18] Radenović S, Kadelburg Z. Generalized weak contractions in partially ordered metric spaces. Computers & Mathematics with Applications. 2010 Sep 30; 60(6):1776-83.
- [19] Radenović S, Kadelburg Z, Jandrlić D, Jandrlić A. Some results on weakly contractive maps. Bulletin of the Iranian Mathematical Society. 2012 Sep 15; 38(3):625-45.
- [20] Ran AC, Reurings MC. A fixed point theorem in partially ordered sets and some applications to matrix equations. Proceedings of the American Mathematical Society. 2004 May 1:1435-43.
- [21] Sessa S. On a weak commutativity condition of mappings in fixed point considerations. Publ. Inst. Math. 1982 Jan 1; 32(46):149-53.
- [22] Sharma RK, Raich V, Chauhan CS. On Generalization of Banach Contraction Principle in Partially Ordered Metric Spaces. Global J. of Pure and Applied Mathematics. 2017;13(6): 2213-2234.